244 BIOLOGY (231)

MANYAM FRANCHISE

24.4.1 Biology Paper 1 (231/1)

L.

(78]

10.

(a) To increase surface area for attachment of respiratory enzymes.
(1 mark)
(b) @ Stroma. (1 mark)
(ii) Bearing photosynthetic pigments. (1 mark)
(a) Ovule. (1 mark)
(b) Ovary. (1 mark)
(a) Sclerenchyma. .
Xylem vessels. (2 marks)
(b) Cells take in water and become turgid. (1 mark)
(a) Sebum. (1 mark)
(b)
= Kills micro organisms.
= Cools the body.
= Getting rid of wastes. (2 marks)
Stomata found only on upper epidermis to allow efficient gaseous exchange; Presence of aeren hyma
tissue to enable it float and storage of air. (2 marks)
@

The genetic material in not surrounded by a membrane.
Smaller in size.

= Lack most organelles. (2 marks)
) Arthropoda. (1 mark)
(a) Thrombosis /varicose veins /arteriosclerosis. (1 mark)
(b)

=  Regulation of body temperature by distributing heat generated by the body.

s  Regulation of pH of fluids.

»  Defence against disease causing organisms. (3 marks)

= Prevents scurvy.

=  Development of healthy gums. (2 marks)
(a) Sister Chromatics separate. Sister chromatics move to opposite poles of spindle

fibre. ’ (2 marks)

()

= Gamete formation.

s Source of variation. (2 marks)
Move towards favourable environment. (1 mark)
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11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

Conversion of excess glucose to glycogen for storage. (1 mark)

(@
®

@
(b)

(@

®

The visking tubing will become turgid. (1 mark
Water moves from beaker into the visking tubing by osmosis; through semi-
permeable visking tubing; with hypertonic solution. (3 marks)
ATP. (1 mark)

@) Brewing of alcohol.
(i) Baking of bread. (2 marks)

In epigeal germination cotyledons are brought above the ground level while in
hypogeal the cotyledons remain below surface. (1 mark)

Required in aerobic respiration; to release energy from food reserves for
germination. (2 marks)

Current continents existed as one large mass. The present continents drifted leading to isolation of
organisms; organisms is each continent evolved along different lines, hence emergence of new

species.

€))
()
(a)

®
©
@

®

(@)

®

(a)
®

(3 marks)

Recycling of nutrients.
Regulation of numbers/population. (2 marks)
Homodont is having same kind of teeth while heterodont is having different kind of
teeth. (1 mark)
Cutting and crushing/chopping; (1 mark)
il c? pm3i mi; (1 mark)
Emulsification of fats/ Breaking into small droplets increase; surface area for
digestion; Neutralise acidity of chime. (2 marks)
Increase in substrate concentration increases enzyme action up to a certain point and further
increase of substrate will have no effect. (1 mark)
)] Protoandry: The male reproductive organ matures earlier than the female

reproductive organs. (1 mark)

(ii) Plants with shorter stamens than pistils which render it impossible for the pollen
grains from the stamens to reach the stigma. (1 mark)

® Increase in variety.

Hybrid vigour.
= Resistance to diseases. (3 marks)
Haptotroplism/Thigmotropism. ) (1 mark)

Expose leaves in positions for maximum absorption of sunlight for photosynthesis.
*  Enables roots of plants to seek water.

*  Enables plants to obtain mechanical support especially those that lack woody stems.
(3 marks)



21.

22,

23.

24,

25.

26.

27.

(a) X - Motor neurone.

Y - Sense organ/ Receptor. (2 marks)
®) Acetylcholine.

@

They alter the shape of the lens.
=  They contract and relax to alter the shape of the lens. (1 mark)

) Rods perceive light of low intensity and are not sensitive to colour therefore low visual
acuity; while cons perceive light of high intensity and are sensitive to colour therefore high
visual acuity. (2 marks)

(@ Ear ossicles - Transmit and magnify sound vibrations.

b Cochlea - Converts nerve vibrations into nerve impulses.

(c) Semi circular canals - Posture and balance.

(d Eustachian tube - Balance pressure in middle ear so that of outside.

(4 marks)

®  Thin walls for faster diffusion of gases.

*  Moist for dissolving gases.

= Large surface for maximum diffusion/gaseous exchange.

= Highly vascularised to facilitate diffusion. (4 marks)

(@ A mouse has a larger surface area to volume ratio than the dog; hence losses more
energy per unit body weight. (2 marks)

)] Lactic acid. (1 mark)

(a) X - Denitrifying Bacteria.

Y - Animals.
Z - Nitrogen fixing bacteria (in soil). (3 marks)

Hydrogen and oxygen. (1 mark)
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24.4.2 Biology Paper 2 (231/2)

1.

(a)

®)

©
@

©
(a)

®

©

@)

®)

©

(3@
(®)

X: Femur.

Y: Fibula,

Z Tibia. (3 marks)

@ Synovial fluid.

(ii) Lubrication of the joint. (2 marks)

Ligament. (1 mark)

Ball and socket joint allows movement in all places while the illustrated allows movement
in one plane only. (1 mark)

Olecranon process. (1 mark) .

Albinism.

Sickle cell anaemia.

Haemophilia.

Colour blindness, (Any 2 x I =2 marks)

() Occurs when chromatid breaks at 2 places and when rejoining the middle piece
rotates and joins in an inverted position.

(i) Occurs when a section of a chromatid breaks off and becomes attached to
another chromatid of another chromosome. (2 marks)

2 x 100 =50%

4 (4 marks)
Pyramid of numbers is a diagrammatic representation of organisms at each tropic level
in a food chain while biomass is a diagrammatic representation of dry weight of organisms
at each tropic level in a food chain, (2 marks)

Insufficient utilisation of food resource/wastage.

Through respiration.

Through death.

Through excretion. (Any 3 x 1 =3 marks)

Run two ropes parallel to each a metre apart;
Counts of shrub are made between the two ropes at marked points/whole belt;
Calculate area of belt transect; calculate for whole area. (3 marks)

Root. . (1 mark)
Presence of root-hairs.
Presence of endodermis.

Xylem star-shaped and at centre with phloem at arms of the xylem.
(Any 2 x 1 =2 marks)
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(c) J: Epidermis.

K: Phloem.
L: Xylem. (3 marks)
(d) Absorption of water.
Absorption of mineral salts. (2 marks)
5. (a) Amniotic membrane. (1 marl;)
(b) @ Arteries; Veins; Capillaries. (2 marks)
(ii) More food nutrients and oxygen in arteries and less food nutrients and excretory
products in the veins. (2 marks)
() Highly vascularised.
Large surface area. (2 marks)
) Cushion/absorbs shock. (1 mark)
6 (a)
_____ i
: HH n e T
B IR st nets gaaun A bunuinen VRV ARTVN s 408
e 2 4 ¢ ] 10 13
Time in days
(8 marks)
(b) () 105 + 1 (mm); (1 mark)
(ii) 134 - 140 (mm). (1 mark)
(c) Graph A

The tip of the shoot which was removed contained Indole Acetic Acid (IAA) which causes
apical dominance or Inhibits growth and develop more of lateral buds; hence, lateral buds
sprouted and grew;

Graph B

The gibberellic which was added on the cut promotes formation of lateral branches on stem;
hence the fast growth of shoot B;
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Graph C
The shoot tip which remained intact contains IAA which inhibits growth and development

of latest buds; hence no change in length of lateral buds. (6 marks)
@ Control. (1 mark)
(e) Increase productivity. (1 mark)
® Promote cell division; and cell elongation. (2 marks)

The afferent arteriole which is a branch of renal artery supplies blood to glomerulus;

The different arteriole has a wider diameter than the efferent arteriole; which takes blood away from
glomerulus. The difference in the diameter of the afferent and efferent vessels causes high pressure;
leading to ultrafiltration of blood; The walls of the blood capillaries are one cell thick hence
glucose, amino acids, vitamins, hormones, salts, creatine, urea and water filter into Bowman’s
capsule; to form glomerular filtrate; white blood cells, red blood cells, plasma proteins such as -
globulin and platelets are too large to pass through the capillary wall; hence remain in blood
capillary; useful substances in the human body are selectively reabsorbed; back into the blood stream
at the proximal convoluted tubule; The useful substances include amino acids, glucose, vitamins,
hormones, sodium chloride and water; Many mitochodria found at the proximal convoluted tubule
provide energy for reabsorption of these substances against a concentration gradient; The glomerular
filtrate flows into the descending and then ascending of loop of henle; Water in the descending loop
moves by osmosis into the blood capillaries; Sodium chloride is actively absorbed from the
ascending into blood capillaries.

The glomerular filtrate flows into distal convoluted tubule; water is reabsorbed by osmosis from
distal convoluted tubule into blood capillaries; The glomerular filtrate flows into collecting tubule
from where, more water is reabsorbed into blood stream; Antidiuretic hormone influences the
amount of water reabsorbed depending on osmotic pressure of blood; The glomemlar filtrate from
several collecting tubules now referred to a urine is emptied into collecting duct; The urine passes
through pyramid, pelvis and ureter into bladder; where urine is stored for some time. The sphincter
on urethra relaxes to allow urine to be released from the body. (20 marks)

Water is drawn into the root hair cells of osmosis; Due to the presence of dissolved substances in

the cell sap of root hairs, the concentration of cell sap is greater than that of the surrounding solution
in the soil/concentration gradient; This exerts a higher osmotic pressure, thus drawing the water
molecules across the cell wall and cell membrane into the root hair cells;

More water drawn into the root hair cells dilutes the cell sap making it less concentrated than that in
the adjacent cortex cell of the root; Due to osmotic gradient water moves from the adjacent cells to
the next by osmosis; until it enters by xylem vessels located in the centre of the root; These xylem
vessels of the root then conduct the water up into the xylem vessels of the stem into the leaves;

There is a force in the roots which pushes water up the stem. This force is known as root pressure
and can be considerably high in some plants; Energy is essential in this process; In the xylem
vessels, water would rise by capillarity; to some extent because the vessels are narrower, and there is
a higher attractive force between the water molecules and the cell walls; The cohesive; and adhesive
forces; are important in the maintenance of a continuous and an uninterrupted water column in the
xylem vessels up the tree to the leaves;

Water vaporises from the spongy mesophyll cells their cell sap becomes concentrated than adjacent
cells; This increases the osmotic pressure of the spongy mesophyll cells; As a result water flows
into the cell from other surrounding cells which in turn take in water from xylem vessels within the
leaf veins; This creates a pull/suction force; that pulls a stream of water from xylem vessels in the
stem and roots; The transpiration pull maintains continuous column of water from the roots to the
leaves. (20 marks)
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24.4.3 Biology Paper 3 (231/3)

1 (a) Cervical region/neck region. (1 mark)
) K - Atlas.

M - Axis.

N - Cervical vertebra. (3 marks)
(c) Wide neural canal.

Absence of centrum.

Small neural spine. (3 marks)
(d Spinal cord.

Odontoid process. (3 marks)
(e) S - Facets for articulation.

T - For passage of blood vessels. (2 marks)
® Occipital condyle. (1 mark)
® u - Post Zygapophysis.

Y - Odontoid process.

R - Centrum. (3 marks)

2. (@) 6] The stem from L, is firm/hard/stiff,
The stem from L, is soft. (2 marks)

(ii) Solution L;is hypotonic to the cell sap;
Water moved into the stem cells by osmosis;
Cells of the stem become turgid;
Solution L, is hypertonic;
Water moves out of the cells by osmosis making the cells flaccid.
(5 marks)

®) @) Material in L; - The slit opens wider; and they bend backwards.
Material in L, - The strips remain close together. (3 marks)

(ii) In L, cells in the inner surface/cut surface enlarged more because they
took in more water; (by osmosis) than the outer cells which have cuticle,

(3 marks)
3. (a) @) SetA - Normal conditions/in light.

(ii) SetB - In the dark.

(iii) SetC - Subjected to unilateral light. (3 marks)
(b) SET A SETB

¢y Green plants Pale yellow plants.

(ii) Large leaves Small leaves.

(i) Short stems Long stem;

(iv) Thick stems Thin stems. (4 marks)
(c) @) Etiolation. (1 mark)

(ii) To reach light. (1 mark)
()] Positive phototropism. (1 mark)

(e) ) Auxins migrate to the dark side.
(ii) Causing faster growth of cells on the dark side.
(iiii) Resulting in the curvature of the shoot towards the source of light.
(3 marks)
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